
Adding/Subtracting Decimals (J)

Calculate each sum or difference.

86.1 + 6.3 = 4.1 + 1.7 =

7.52 + 3.1 = 83.27 − 48.9 =

34.2 − 7.01 = 9.48 + 7.98 =

81.1 + 42.6 = 91.24 − 3.7 =

52.7 + 3.24 = 49.74 − 43.5 =

7.09 − 6.85 = 64.4 + 55.22 =

19.7 + 5.63 = 5.84 − 4.2 =

44.55 + 4.81 = 27.68 + 8.54 =

9.48 + 7.36 = 47.14 − 40.1 =

51.6 + 32.14 = 6.8 − 5.87 =
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Adding/Subtracting Decimals (J) Answers

Calculate each sum or difference.

86.1 + 6.3 = 92.4 4.1 + 1.7 = 5.8

7.52 + 3.1 = 10.62 83.27 − 48.9 = 34.37

34.2 − 7.01 = 27.19 9.48 + 7.98 = 17.46

81.1 + 42.6 = 123.7 91.24 − 3.7 = 87.54

52.7 + 3.24 = 55.94 49.74 − 43.5 = 6.24

7.09 − 6.85 = 0.24 64.4 + 55.22 = 119.62

19.7 + 5.63 = 25.33 5.84 − 4.2 = 1.64

44.55 + 4.81 = 49.36 27.68 + 8.54 = 36.22

9.48 + 7.36 = 16.84 47.14 − 40.1 = 7.04

51.6 + 32.14 = 83.74 6.8 − 5.87 = 0.93
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